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1 $6.00 $6.00 $24.00
2 $4.00 $5.00 $14.00
3 $2.00 $4.40 $10.40
4 $4.00 $4.00 $8.50
5 $6.00 $4.40 $8.00
6 $8.00 $5.30 $8.30
7 $10.00 $6.25 $8.82

S BRERASNHE KRSl Q =100-P’—-P,+0.6l - P iz L A&
:%f;; yﬂy BASER | 597F - FP = P—ZO’I—15000$§*
FRAS()Zp L REE R EP A EEY X RE R L E
2.7 (254)

AT LA EaT e MRS LR T 0 SR A S i o B
#?“ﬁ?ﬁ?%"# e f6 9 I_;qu—»ﬁ ﬁ'ﬁﬁJ FTR o IR .—,_/tx‘fg:'jtl (Z, }%]T]/>
AR A H O VKR T o Hh T Y o T FEE (20 4 )

Ji



£ 5 : 31960
F 22

> rﬂ%‘ﬁ;&%m HE o A AlE 5 2 oA A & 1 A
LRI S Sani = Al M N R S
P sz @ 7 H = mﬁrlﬁﬁﬁ%a@rﬁ,ﬂﬂ' RS 55 v
kfze ~ L1 2 F e sy B~ 3,300 T 4E e 1 Ry '?“f*’-‘%E]‘loza\
B2z FH > XgadEd (254 )



